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NORMATIVA	
  DEL	
  EXAMEN	
  
	
  

• En	
  primer	
   lugar,	
   escriba	
   su	
  nombre	
  y	
   apellidos	
   en	
  el	
   espacio	
   reservado	
  a	
   tal	
   efecto	
  y	
  
deje	
  un	
  carné	
  de	
  identidad	
  o	
  de	
  la	
  escuela	
  visible	
  a	
  su	
  lado.	
  

• Apague	
  su	
  teléfono	
  móvil.	
  

• El	
  examen	
  tiene	
  un	
  valor	
  de	
  2	
  puntos,	
  es	
  obligatorio	
  para	
  todos	
  los	
  alumnos	
  que	
  hayan	
  
elegido	
  evaluación	
  continua	
  y	
  tiene	
  una	
  duración	
  de	
  una	
  hora.	
  

• Las	
  respuestas	
  que	
  no	
  estén	
  claramente	
  justificadas	
  y	
  razonadas	
  no	
  tendrán	
  ningún	
  
valor.	
  

• El	
   uso	
  de	
   cualquier	
   documentación	
   auxiliar	
   y	
   del	
   teléfono	
  móvil	
   está	
   completamente	
  
prohibido.	
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Cuestión 1 (1 punto) 
	
  
Se	
   desea	
   implementar	
   la	
   operación:	
   (X-2Y) XOR (C)	
   con	
   dos	
   operandos	
   X,	
   Y	
   de	
   6	
   bits	
   (x5..x0;y5..y0),	
  
expresados	
  en	
  C2,	
  y	
  una	
  variable	
  C	
  de	
  8	
  bits	
  (C7..C0).	
  El	
  resultado	
  intermedio	
  D= X-2Y	
  se	
  obtiene	
  en	
  D,	
  en	
  
8	
   bits	
   (D7..D0).	
   El	
   resultado	
   final	
  R=(X-2Y) XOR (C),	
   se	
   tiene	
   en	
  R,	
   en	
   8	
   bits	
   (R7..R0).	
   Para	
   realizar	
   esta	
  
operación	
  se	
  dispone	
  del	
  circuito	
  de	
  la	
  figura	
  1,	
  que	
  consta	
  de	
  dos	
  sumadores	
  74LS83,	
  y	
  dos	
  ALU’s.	
  
	
  
	
  
a) Realice	
  las	
  conexiones	
  necesarias	
  en	
  el	
  circuito	
  de	
  la	
  figura	
  1	
  para	
  que	
  funcione	
  de	
  la	
  manera	
  descrita,	
  

empleando	
  únicamente	
  inversores.	
  Además	
  indique	
  claramente	
  en	
  qué	
  terminales	
  se	
  obtienen	
  D	
  y	
  R.
	
   (0,5	
  ptos.)	
  

	
  
	
  
	
  

	
  
	
  
	
   Figura	
  1	
  
b) Indique	
  razonadamente:	
  	
   (0,5	
  ptos.)	
  

(b.1)	
  El	
  margen	
  de	
  valores	
  posibles	
  para	
  D.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
(b.2)	
  Si	
  puede	
  existir	
  o	
  no	
  desbordamiento	
  en	
  D.	
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Tabla de funcionamiento de la ALU 
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Cuestión 2 (1 punto) 
	
  

A	
  partir	
  del	
   circuito	
  mostrado	
  en	
   la	
  Figura	
  2,	
   sabiendo	
  que	
   inicialmente	
   todos	
   los	
  biestables	
  comienzan	
  
con	
  la	
  salida	
  a	
  nivel	
  bajo,	
  se	
  pide:	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

Figura	
  2.	
  Circuito	
  con	
  biestables.	
  
	
  
a) Complete	
  el	
  siguiente	
  cronograma	
  representando	
  la	
  evolución	
  de	
  las	
  señales	
  indicadas.	
   (0,75	
  ptos.)	
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b) Calcule	
   la	
   máxima	
   frecuencia	
   de	
   funcionamiento	
   (fmax)	
   del	
   circuito,	
   a	
   partir	
   de	
   los	
   datos	
   que	
   se	
  

proporcionan.	
   (0,25	
  ptos.)	
  
Datos:	
  Biestables:	
  tpB= 6 ns; tsetup= 3 ns; thold= 0 ns;	
  
	
   Puertas	
  AND	
  e	
  Inversores:	
  tpP=4 ns.	
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